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CE3502 - STRUCTURAL ANALYSIS I - PCE ACTIVITY
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Across:

1 A truss formed by joining two or more simple
trusses is called _________ Truss

5 Fixed ______ moments are required for solving
slope deflection equations

6 Moment at a hinge will be equal to
_____________

8 Concentrated load is also known as ___________
load

9 The degree of freedom of space roller joint is
_____

12 __________ is the simplest element of a space
truss.

13 Hinge support is also known as _____ support.

15 Truss members carry ________ load

18 In a beam, slope value will be ____________ at
the free end.

19 If "n" is not equal to 2j-3, then the frame is called
as ____________ frame.

20 In general ____ equilibrium equations are needed
to solve each joint of a truss.

Down:

2 For UDl, loads are measured in load ___________ length

3 If n < 2j-3, then the frame is called as ____________ frame.

4 If the equllibrium conditions are enough to analyze a structure, then it is
said to be statically ____________________

7 If n > 2j-3, then the frame is called as ____________ frame.

10 If a beam extends beyond its support, then it is called as __________
beam.

11 The type of joints used in space truss are _______ and Socket Joint.

14 If n = 2j-3, then the frame is called as ____________ frame.

16 ___________wise moments are positive.

17 The number of independent equations to be satisfied for static equilibrium
of a plane structure is _________

ROLL No :

STUDENT NAME :
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Score 0Score 0Score 0Score 0 Q Q 22 // 2020 Score 0Score 0

Beam having more than two supports is called as ____________ beam.

Continuous beam fixed

cantilever simply supported

60

Q Q 22 // 2020 Score 0Score 0

Beam having more than two supports is called as ____________ beam.

Continuous beam fixed

cantilever simply supported

60

Q Q 33 // 2020Q Q 33 // 2020

Q. Point load is also known as ____________ load.

udl
Concentrated load
uvl
moving

1 60 sec

Q. Beam having more than two supports is called as ____________ beam.

Continuous beam

2 60 sec

GO PREMIUM!

Arun Kannan
Basic



Continuous beam
fixed
cantilever
simply supported

Q. Beam with one end fixed and other end free is ___________________

continuous
Fixed
Simply supported
Cantilever

3 60 sec

Q. Hinged support has _______ reactions.

1
0
2
   3

4 60 sec

Q. An influence line is a _____________ drawn for beam or truss.

None of the above
Portrait
image
Graph

5 60 sec

Q. What will be the shape of ILD curve for vertical reaction at point A?

Stright line
Triangular
Parabolic
Circular

6 60 sec

Q. ILD stands for ________________ line diagram

Influence
Integrated
Internal
None of the above

7 60 sec

Q. Trusses are also termed as ___________.

Frames
None of the above
Beams
Columns

8 60 sec

Q. Roller support has ____________ reaction.

Horizontal
Vertical
None of the above

9 60 sec
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Both Horizontal & Vertical

Q. B.M at hinged support in a beam is __________

1
2
3
Zero

10 60 sec

Q. Which of the following structural loads are not applied commonly to a building?

Rain load
Wind load
Dead load
Live load

11 60 sec

Q. Which of the following is statically determinate structure?

Two hinged arch
Double Overhanging beam
Continuous beam
Fixed beam

12 60 sec

Q. Which of the following material is not used in making trusses?

Wood struts
Concrete
Metal Bars
Channel 

13 60 sec

Q. Which structure will perform better during earthquake?

None of the above
Statically indeterminate
Statically determinate
Depends upon magnitude of earthquake

14 60 sec

Q. Which of the following is carried by truss members?

Axial load
Bending load
Flexural load
Shear load

15 60 sec

Q. Which of the following methods for solving indeterminate structures are easiest for computational purposes?

Method of consistent deformation
Displacement method
Force method
Moment area method

16 60 sec
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Q. The fixed support in a real beam becomes in the conjugate beam a

Roller support
Fixed support
Free end
Hinged support

17 60 sec

Q. Centroid is the ratio of ____________ by Force.

None of the above
Resultant
Moment
load

18 60 sec

Q. Fixed support has ____________ reactions.

0
3
2
1

19 60 sec

Q. If equillibrium equations are enough to solve a structure, then it is called as _____________________ structure.

Determinate
Indeterminate
None of the above
Independent

20 60 sec
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Across:

2 For drawing ILD, ________ load is assumed

4 Cantilever beam supported at the free end end is called
____________ cantilever beam.

5 Influence lines are very helpful in determining the force
componenents due to _____________ loads.

9 Beams with both ends are fixed is called as ___________
beam.

12 An influence line is a _____________ drawn for beam or
truss.

13 What will be the shape of ILD curve for vertical reaction at
point A?

14 Centroid is the ratio of ____________ by Force.

16 Beam having more than two supports is called as
____________ beam.

17 Point load is also known as ____________ load.

18 ILD stands for ________________ line diagram

19 Roller support has ____________ reaction.

20 Shear ______________ should be calculated to fix the
position of moving loads in ILD.

Down:

1 B.M at hinged support in a beam is __________

3 Fixed support has ____________ reactions.

6 UVL stands for uniformly _____________ load.

7 Beam supported on two ends is called _______________ supported
beam.

8 The shape of BM for an UDL load is ______________

10 If equillibrium equations are enough to solve a structure, then it is
called as _____________________ structure.

11 Trusses are also termed as ___________.

15 Hinged support has _______ reactions.

16 Beam with one end fixed and other end free is
___________________

NAME:_______________

ROLL NO:_____________

 DATE:________________
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Across: 

2 
............MOSFET is a device 
evolved from MOS integrated 
technology. 

3 
The arrow on the symbol of 
MOSFET indicates the direction 
of ......... 

4 

The operating regions of 
MOSFET are Cut-Off Region, 
Ohmic Region and .................. 
Region. 

6 
MOSFET is designed to 
overcome .......... drain 
resistance. 

8 
The 2 modes of operation are 
enhancement mode and 
............ mode 

9 
The switching speed of 
MOSFET is ........... 

10 
How many modes of operation 
are there in MOSFET?  

11 
In which mode , channel is 
diffused between the source 
and drain. 

15 
MOSFET has.................. input 
impedance 

16 
Can MOSFET be fabricated on 
a single chip?  

17 
The fastest switching device is 
.......... 

 

Down: 

1 

In the internal structure of a 
MOSFET, a parasitic BJT 
exists between the SOURCE 
AND ................TERMINALS. 

3 
In which mode , There is no 
channel in between Source 
and drain. ............... mode  

5 

The output characteristics of a 
MOSFET, is a plot of Id as a 
function of Vds with ............. 
as a parameter. 

7 
The 3 terminals of P-Type 
MOSFET are Drain, source 
and........... 

9 
How many terminals are there 
in MOSFET?  

12 
The controlling parameter in 
MOSFET is ........ 

13 
Depletion mode is classified 
into P-channel and ........... 

14 
MOSFET have 
.................Offset Voltage. 

15 
The MOSFET combines the 
areas of field effect.............. 
technology. 

 

 

  

 



 

 

Across: Down: 



2 
When there is no base current in a 
transistor switch, the output voltage 
from the transistor is .......... 

5 
A circuit with a fixed emitter current 
is called .......... bias. 

6 
If the base resistor is ................., 
then the collector current will be 
zero. 

7 
The base of an NPN transistor is 
thin and ............ doped 

9 
If the base resistor is very small, 
the transistor will operate in the 
........... region. 

12 
If the base supply voltage 
increases, the q point moves 
............. 

13 
Most of the electrons in the base of 
an NPN transistor flow into the......  

14 
Who invented the first junction 
transistor?  

15 
A transistor acts like a ........ and a 
current source. 

16 
The current gain of a transistor is 
defined as the ratio of the collector 
current to the ..................current 

19 The emitter diode is usually ........ 

20 BJT is a .............. controlled device 
 

1 
A transistor has how 
many doped regions 

3 
Which depletion layer 
has 0.7 V as barrier 
potential. 

4 
In an NPN transistor, the 
majority carriers in the 
base are ......... 

8 

If the base current is 100 
Ma and the current gain 
is 30, the collector 
current is ........ 

10 

For normal operation of 
the transistor, the 
collector diode has to be 
...... 

11 
The base emitter voltage 
is usually less than the 
base ............ voltage 

17 
The transistor will 
Amplify ............ signals 

18 
If the base resistor is 
open, what is the 
collector current?  

 

 



 

 

Across: 

2 
A 10 V power supply would use 
...........capacitor as filter 
capacitor. 

5 

For the same secondary 
voltage, the output voltage from 
a centre-tap rectifier is ............. 
than that of bridge rectifier 

6 
A crystal diode is a ............. 
device 

Down: 

1 
A zener diode has 
...................breakdown voltage 

3 
In the breakdown region, a zener 
didoe behaves like a 
.............source. 

4 
A zener diode is always 
...............connected. 



8 
A crystal diode has one ............. 
junction 

11 
In N type semiconductor the 
majority charge carriers are 
.............. 

12 
If the temperature of a crystal 
diode increases, then leakage 
current ................ 

14 
A zener diode is used as 
a............ 

16 

When the graph between 
current through and voltage 
across a device is a straight line, 
the device is referred to as 
.................. 

17 
When a crystal diode is used as 
a rectifier, the most important 
consideration is .............. 

18 
The process of adding impurity 
to the intrinsic semiconductor is 
called--................... 

19 

If the a.c. input to a half-wave 
rectifier is an r.m.s value of 
400/√2 volts, then diode PIV 
rating is .............. 

20 
The d.c. resistance of a crystal 
diode is ...............its a.c. 
resistance 

 

7 
The knee voltage of a crystal 
diode is approximately equal to 
......... 

9 
A crystal diode is used as 
a............ 

10 
In p-type semiconductor, the 
majority charge carriers 
are............. 

13 
If the arrow of crystal diode 
symbol is positive w.r.t. bar, then 
diode is ___________ biased.  

15 
Specification of pn junction diode 
is ............... 

 

 

 

 



 

 

 

 

 

 

 



Across: 

2 
A supernode is 
situated between .... 

6 

The input applied to 
an Inverting 
amplifier is equal to 
- 

7 
The symbol Q refers 
to the 

11 
Mesh analysis is 
suitable for ........... . 

17 
A voltage equal to 
thevenin’s voltage is 

18 

Network is designed 
with .............. to 
obtain high 
efficiency. 

19 
The basic laws for 
analyzing an 
electric circuit. 

20 
An instrument used 
to measure electric 
current . 

 

Down: 

1 

 
There are 13 branches in a complicated 
network and nearly 8 nodes. ............. 
equations are required to solve the 
circuit in node-voltage method? 

3 The other name of relative permittivity is 

4 Source transformation is 

5 A tank circuit is a ................ LC circuit 

8 The S.I. Unit of Electric Current is------ 

9 
20. The rate at which workdone by 
electrical energy per unit time is called 
the ........... 

10 
symbol used for representing the 
Independent sources 

12 
The opposing capacity of materials, 
against the current flow. 

13 
How many types are the dependent 
sources? 

14 
A component that is used to close or 
break a circuit is-------- 

15 
The specific resistance of a pure 
germanium 

16 
A component which provides resistance 
is called  
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